ANNOUNCED QUIZ #4 — ME 3030 — Section 001 — Fall 2025

SOLOTION

NAME:

This is an open book quiz. You may use a four function calculator. An unsigned honors pledge will
result in a zero.

1. A fixed mass of 2.65 kg of ammonia expands isothermally from a saturated vapor at 3.25
bar to a superheated vapor at 1.50 bar. If the process is reversible, what is the work
done by the ammonia in kJ? You may assume kinetic and potential energy effects are negligible.
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I HAVE NEITHER PROVIDED OR RECEIVED HELP DURING THIS QUIZ.

Infopel=y

kT
Y, =1325 zi g~
7

e ”

SIGNATURE



